Exercises

In Exercises 1-8, determine whether the equation defines yas
linear function of x.If so, write it in the formy=mx +b.

L2x+%y=06 2 -Wtdy=1
Joa=Y-4 4 =318

§or-4y9=0  6.3-6y+7=0
100-f+4=0 B3Vt =0

In Bxercises 9-14, determine whether the function isa polyno-
mial function, a rational function, or some other function. State

the degree of each polynomial function.
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15, Find the constants m and b in the [inear function
(x) = mx + bsuch that f{0) = 2andf(3) = -1

16. Find the constants m and b in the linear function
f(x) = mx + bsuch that f(2) = 4 and the straight line
represented by fhas slope =],

17, A manufacturer has a monthly fixed cost of $40,000 and
a production cost of 98 for each unit produced. The
product sells for S12/unt.

a, What s the cost function?
b, What is the revenue function?

¢, What is the profit function’
d. Compute the profit (loss) corresponding to production
Levels of 8000 and 12,000 nits.

18. A manufacturer has a monthly fixed cost of $100,000 and
~ a production cost of $14 for each unit produced. The
product sells for $20/unt.
2. What s the cost function”
b, What is the revenue function?
¢, What s the profit function’
. Compute the profit (loss) corresponding to production
Levels of 12,000 and 20,000 units.

10, DisposkaLe Income Beonomists define the disposable
anual income for an individual by the equation
D = (1 - )T, where T s the individual' fotal income
and 1 is the net rate at which he or she is taxed. What I8
the disposable income for an individual whose income 1S
60,000 and whose net tax rate is 28%"

20, Chitoren's Daua Dosaces A methiod sometimes used by
pediatricians to calculate the dosage of medicine for chil
deen i based on the child’s surface area. If a denotes the
adult dosage (in milligrams) and § is the surface area of
the child (in square meters), then the child's dosage 1s

given by
Sa
Di§) = —
5= 1

If the adult dose of  substance is 500 mg, how much
should a child whose surface area is 0.4 m’ receive?



